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The Indian mainland extends between which of
the following latitudes?

() 8%’ North to 37°6’ North latitudes

(b) 9°4’ North to 38%’ North latitudes

(c) 8°4’ North to 32°’ North latitudes

(d) 5%’ North to 37°’ North latitudes

Consider the following statements-

1. The southern slopes of the Himalayas towards
India are steeper and the slopes towards Tibet
are generally gentle.

2. Himadri ( Greater Himalaya ) is the northernmost
and highest range of the Himalayas.

Which of the above statements is/are correct ?
(a) only 1

(b) only 2

(c) Both 1and 2

(d) Neither 1nor 2

Consider the following statements-

1. Aravali and Dharwad rocks were formed in
the Pre-Cambrian period.

2. The oldest sedimentary rocks were formed in
the cambrian period.

Which of the above statements is/are correct ?
(a) only 1

(b) only 2

() both 1and 2

(d) neither 1 nor 2

Arrange the following mountain ranges in the
order from north to south:

1. Zaskar Range

2. Ladakh Range

3. Kunlun Range

4. Shivalik Range

Select the correct answer using the code given
below.

(@) 3-1-2-4

(b) 3-2-1-4

(0 1-2-3-4

(d) 3-1-4-2
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Arrange the following rivers in the order from
north to south:

1. Jhelum

2. Sindhu
3. Raavi
4. Sutlej

Select the correct answer using the code given
below.

(a) 1-2-4-3

(b) 1-2-3-4

(0 2-1-3-4

(d) 2-1-4-3

Arrange the following tributaries of Ganga in
the order from west to east on the basis of their
place of confluence with Ganga:

1. Gandak

2. Ghaghra
3. Son

4, Kosi

Select the correct answer using the code given below.
(a) 1-2-4-3
(b) 1-2-3-4
(0 2-1-3-4
(d) 2-3-1-4

Which of the following statements is/are

correct:

1. The northern plains are made of alluvial deposits.

2. The peninsular plateau is made up of low hills
and wide valleys of igneous and metamorphic
rocks.

Which of the following statements is/are correct ?
(a) only 1

(b) only 2

() both 1and 2

(d) neither 1 nor 2

Which of the following hills are located where
the Eastern Ghats and Western Ghats merge?
(a) Annamalai Hills

(b) Cardamom Hills

() Nilgiri Hills

(d) Shevarai Hills
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Consider the following statements-

1. Salt-water crocodiles are found in Andaman
and Nicobar Islands.

2. 10 Degree Channel separates Andaman
Islands from Nicobar.

Which of the above statements is/are correct ?
(a) only 1

(b) only 2

() both 1and 2

(d) neither 1 nor 2

Nanda Devi Valley is a part of which of the following?
(@) Nepal Himalaya

(b) Punjab Himalaya

(¢ Kumaon Himalaya

(d) Assam Himalaya

. The correct order from north to south of the

following rivers flowing in the east direction in
Peninsular India is-

1. Golden Line

2. Mahanadi

3. Godavari

4, Kaveri

5. Penna(Pennar)

Select the correct answer using the code given
below.

(@) 1-2-4-3-5

(b) 1-2-3-5-4

() 2-1-3-5-4

(d) 2-3-1-4-5

. Consider the following statements-

‘Bangar areas’ of the northern plains are
fertile and ideal for intensive farming.

2. New and young deposits of flood plains are
called ‘Khadar'.

Which of the above statements is/are
correct ?

(a) only 1

(b) only 2

() both 1and 2

(d) neither 1nor 2
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origin in India?
(a) Chenab

(b) Beas

(c) Sutlej

(d) Raavi

Cardamom Hills are located on the borders of
which states/union territories?

(a) Kerala and Karnataka

(b) Kerala and Tamil Nadu

() Tamil Nadu and Karnataka

(d) Tamil Nadu and Puducherry

Consider the following statements-

1. The width of the Western Himalayas is greater
than that of the Eastern Himalayas.

2. In longitudinal extension, the Himalayas are
in the order of Himadri, Lower Himalaya and
Shivalik from north to south.

Which of the above statements is/are correct ?
(a) only 1

(b) only 2

() both 1and 2

(d) neither 1 nor 2

Barkan/Barkhan T related to which of the

following?

(a) Disappearance point of rivers in Himalayan
foothills

(b) flood land

() plains found in eastern ghats

(d) crescent shaped sand dunes

~

Which of the following river /rivers is not a
tributary of Yamuna?

1. Chambal

2. Betwa

3. Son

Select the correct answer using the code given
below.

(a) only 1

(b) 1and 3 only

() only 3

(d) only 2 and 3
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river/rivers are
tributaries of Brahmaputra?

1. Subansiri

2. Teesta

3. Barak

Select the correct answer using the code given below.
(a) only 1

(b) 1and 3 only

() only 3

(d 1,2and 3

India was a part of the ancient supercontinent
Gondwanaland. Presently the land area
belonging to Gondwanaland is/are :

1. South America

2. Africa

3. Australia

Select the correct answer using the code given below.
(a) only 1

(b) 1and 2 only

() only3

(d 1,2and3

Which of the following plateau is situated
between Aravalli and Vindhya ranges?

(a) Malwa Plateau

(b) Chhota Nagpur Plateau

(c) Deccan plateau

(d) Peninsular plateau

Consider the following statements regarding

the Peninsular Plateau of India:

1. The gently slope of this plateau is towards the
east.

2. The highest point of the plateau region is
Anai-Mudi peak.

Which of the
correct ?

(a) only 1

(b) only 2

() None of the above
(d) All of the above

is/are

above statements
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fieret &2 three countries Nepal, Bhutan and China?
(a) I (a) Meghalaya
(b) IIEUMA (b) Arunachal Pradesh
(o Tafeera (© Sikkim
(d) 9R=d sma (d) West Bengal
Q23. fffad TR A A PTAA A ART S Gef §J&  Q 23. Which of the following statements is/are
8€? correct about India?
1. 9Rd faga & WW%&T%I 1. India is the fifth largest country in the world.
2. Vg TYTHSH o el Qthel 1 T 2.4 TfRTd ST 2. Tt occupies about 2.4 percent of the total area
Sfergpa fFu gu 2| of the lithosphere.
3. 9HA R SwTHeaY | ferd 2 | 3. The whole India is situated in the tropics.
4, 82°30" &l <R 1 YA ARAT Wk THT hl 4. 82°30' East longitude is used to determine
i e o foru fran STl 2 | Indian Standard Time.
%e: Code :
(a) Hadl 132 (@) 1and 2 only
(b) e 2 3R 3 (b) 2 and 3 only
(@ Hee 1 3ﬁ'{ 3 () 1and 3 only
(d) e 2 3R 4 (d) 2and 4 only
Q 24. frHfafEd Tl W faaR $ifoe : Q 24. Consider the following statements-
1. 9Rd SHEEN g 9 fova W T T 1. India is the second nation in the world in
2l terms of population.
2. THe! YT T H1 R T 15,200 R 2 2. Ttsland border extends approximately 15,200 km.
3. WWWWWWﬁ@W%I 3. The first sunrise occurs in its Mizoram state.
ﬁﬁmﬁmwﬁ%? How many of the above statementsis/are correct ?
(a) Teh (3) Only one
(b) e (b) Only two
() Had (© Only three
(d) e o T g T (d) None of the above
Q 25. YR ¥ Y-3MPfad WA & deH ¥, ffaRad dTHI W Q 25. With reference to the geomorphic structure in
ﬁﬂﬂﬂ:ﬂﬁl‘@- India, consider the following statements-
1, A g W BEe USR <Feh YeR &l 1. Structurally, the Meghalaya Plateau is an
fereaiia a2 extended part of the Deccan Plateau.
2. FHYUR HE &l T91 Ueh THAE o g‘a‘ % | 2. Kashmir valley was formed in an isomorphism.
3. T A T Ueh 30T ﬁ%ﬁ% | 3. The Ganga plain was formed in a fore trough.
4. fearem i 3 IRAE wie, T e a9 I 4. The Himalayas originated as a result of the
I % Frhivi SR & e Fu g € | triangular convergence of the Indian Plate,
the European Plate and the Chinese Plate.
ST wo B A -/ A HAT B/ ?
) el 1,2dAa 3 Which of the above statements is/are correct ?
(b) hereT 1, 3 A 4 (3 Only 1,2 and 3
() Hael1qe3 (b) Only 1,3 and 4
(d) e 2 A 4 (O Only 1and 3
(

d) Only 2 and 4
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Consider the following statements:

1. Geologically, the peninsular region is the
oldest part of India.

2. The Himalayas represent the youngest folded
mountains in the world.

3. The western coast of India has been formed by
the deposition of rivers.

4. Gondwana rocks have the largest reserves of
coal in India.

How many of the above statements is/are correct ?
(a) Only one

(b) Only two

() Only three

(d All

Consider the following statements:

1. The Deccan Traps originated in the late
Cretaceous period.

2. The Western Ghats mountains originated in
the Cenozoic period.

3. Aravali Mountains originated in the Pre-
Cambrian era.

Which of the above statements is/are correct ?
(3 1and 2 only

(b) only 2 and 3

(0 1and 3 only

(d 1,2and3

Consider the following statements and select
the correct answer from the code given below:
Assertion (A): All the rivers originating from the
Himalayas are continuous channels.

Reason (R) Himalayan rivers receive
most of their water from the south-west
monsoon.
Code:

Both (A) and (R) are correct and (R) is the
correct explanation of (A).

Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(0 (A) is correct, but (R) is wrong.

(A) is wrong, but (R) is correct.

(@)
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ranges, the most probable geographical impact

on India would have been-

1. Most parts of the
experience cold waves
Siberia.

2. The Indus-Ganga plain would have been
deprived of such extensive alluvial soil.

3. The pattern of monsoon would have been
different from the present pattern.

country would
coming from

Which of the
correct?

(a) only 1

(b) 1and 3 only
(0 2and 3 only
(d) 1,2and3

above statements is/are

. Arrange the following mountain ranges from

south to north:

1. Jaskar Mountain Range
Dhauladhar Mountain Range
Ladakh Mountain Range
Karakoram Mountain Range

e LA

Consider the following statements-

1. In India, the Himalayas extend over only five
states.

2. The Western Ghats extend over only five
states.

3. Pulicat Lake is spread over only two
states.

Which of the above statements is/are
correct ?
(a) 1and 2 only

(b) only 3
(0 2and 3 only
(d) 1and 3 only
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which of the following statements is/are correct?

1. The layered rocks of the main Himalayas are
poor in fossils.

2. Fossils of marine animals are found in the
layered rocks of the Lesser Himalayas.

3. Remains of human civilization have been found
in the Outer Himalayas or Shivalik Himalayas.

Select the correct answer from the codes given below -

Code :

() 1and 2 only

(b) 2 and 3 only

(0 1and 3 only

(d) 1, 2 and 3 are correct

Consider the following statements-

1. The Western Ghats are at relatively high
altitude in the northern region.

2. Anaimudi is the highest peak in the Western Ghats.

3. Tapti River is in the south of Satpura.

4. Narmada River and Tapti River valleys are
considered old rift valleys.

How many of the above statements is/are correct ?
(3) Only one

(b) Only two

() Only three

(d) All of the above

Consider the following statements with

reference to the Western Ghats:

1. It is a Block mountain.

2. Its eastern slope is a gentle and terraced
plateau.

3. Itsnorthern partis covered with lava (basalt ).

Which of the
correct?

(@) Only 1and 2

(b) Only 2 and 3

() Only 1and 3

(d 1,2and 3

is/are

above statements
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Q 39. dAfedi & dWE & FARNE B § Mead, veqd, Terad  Q 39.

Which plateau is known for its rich deposits of
iron ore, manganese, and mica?

(a) Chhotanagpur Plateau

(b) Malwa Plateau

(c) Meghalaya Plateau

(d) Bundelkhand Plateau

Which of the following is not a part of Meghalaya
Plateau?

(3) Bhuvan Hills

(b) Garo Hills

() Khasi Hills

(d) Jaintia Hills

Which of the following is/are the volcanic
islands of India?

. Little Andaman

. Little Nicobar

. Great Nicobar

. Barren Island

—

A w N

Code:

(3) Only one

(b) Only two

() Only three

(d) All of the above

Consider the following statements

1. The vast northern plains of India have been
formed from silt brought by the Himalayan
rivers.

Some rivers of the Himalayas are even older
than the Himalayas.

N

Choose the correct statement from the above:
(@) only 1

(b) only 2

(c) None of the above

(d) All of the above

What is the correct sequence of Godavari,
Mahanadi, Narmada and Tapi in descending
order of length of rivers?

(a) Godavari-Mahanadi-Narmada-Tapi

(b) Godavari-Narmada-Mahanadi-Tapi

() Narmada-godawari-Tapi-Mahanadi

(d) Narmada-Tapi-Godavari-Mahanadi

1
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Consider the following:

Assertion (A): West flowing rivers in Peninsular

India do not form deltas.

Reason (R) : These rivers do not bring with them

alluvial sediments.

(a) Both A and R are correct and R is the correct
explanation of A.

(b) Both A and R are correct, but R is not the
correct explanation of A.

() A is correct, but R is wrong.

(d) A is wrong, but R is correct.

With reference to Indian desert, consider the

following statements:

1. Itis situated to the south-west of the Aravalli Hills.

2. The geological rock structure of this region
is an extension of the peninsular plateau.

3. Luni River is an important river of this region.

How many statements of the above is/are correct ?
(3) Only one

(b) Only two

() Only three

(d) All four

Which is the correct sequence of the hills given

below, starting from north to south?

(3 Nallamalai Hills — Nilgiri Hills — Javadi
Hills - Annamalai Hills

(b) Annamalai Hills — Javadi Hills — Nilgiri
Hills — Nallamalai Hills

(o Nallamalai Hills — Javadi Hills — Nilgiri
Hills — Annamalai Hills

(d) Annamalai Hills — Nilgiri Hills — Javadi
Hills — Nallamalai Hills

Consider the following statements-

1. Mahanadi originates from Chhattisgarh.

2. Godavari River originates from Maharashtra.
3. Kaveririver originates from Andhra Pradesh.
4, Tapiriver originates from Madhya Pradesh.

How many of the above statements is/are correct ?
(a) Only one

(b) Only two

() Only three

(d) All of the above
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Consider the following;

Statement (A ): Kali River is an east-flowing river in the

southern part of India.

Reason (R): The Deccan Plateau is high on its western edge

and has a gentle slope towards the Bay of Bengal in the east.

(a) Both A and R are correct and R is the correct
explanation of A.

(b) Both A and R are correct, but R is not the
correct explanation of A.

() A is correct, but R is wrong

(d) A is wrong, but R is correct

Consider the following statements regarding

the islands of the Arabian Sea:

1. All islands are made of coral deposits.

2. Lakshadweep is the largest among these islands.

3. The islands are divided into two parts by 11
degree channel and 13 degree channel.

How many of the above statements is/are correct ?
(3) Only one

(b) Only two

() All three

(d) None

A special state of India has the following

characteristics:

1. It is located on the same latitude as the one
that passes through northern Rajasthan.

2. More than 80% of its area is under forest cover.

3. More than 12% of the forested area of this
state is in the form of protected area network.

Which one of the following states has all the

characteristics given above ?

(a) Assam

(b) Uttarakhand

(o) Arunachal Pradesh

(d) Himachal Pradesh

Mizoram is also called ‘Molasses Basin'.

1. Because it is made of soft and unorganized rocks.
2. Because it is a big basin.

3. Because it is a lake area.

How many of the above statements is/are correct ?
(a) Only one (b) Only two
(c) All three (d) None
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for considering Gondwana rocks as the most
important among the rock groups of India?

(3) More than 90% of India’s limestone reserves
are found in these.

More than 90% of India’s coal reserves are
found in these.

(c) More than 90% of the fertile black cotton
soils are spread over them.

In this context, none of the arguments given
above are appropriate.

(b)

(d)

Consider the following statements:
Statement-I: There is a time difference of 1 hour 30
minutes between the easternmost and westernmost
parts of India.

Statement-II: The longitudinal extension of India
is from 68°7’ East to 97°25" East.

Regarding the above statements, which one of
the following is correct ?

(a) Both Statement-I and Statement Il are correct
and Statement-II is the correct explanation
of Statement-I.

Both Statement-I and Statement-II are
correct and Statement-II is not the correct
explanation of Statement-I.

(c) Statement-Iis correct but Statement-II is wrong.
Statement-I is wrong but Statement-II is correct.

With reference to Chenab River, consider the

following statements:

1. It is formed by the confluence of more than
two rivers.

2. It is also known as Chandrabhaga.

Which of the above statements is/are correct ?
(3 Only 1

(b) Only 2

(¢ Both1and 2

(d) Neither 1nor 2




